
Passo 1
Passo 2
Passo 3
Passo 4
Passo 5

Ref. a Mem
Busca

IR <- Mem[PC]

IorD = 0         # endereço

MemRD        # lê mem

IRWR           # escr. IR


Independente da função

RegFile -> A e B

                 # sem sinais

                 # de controle


Cálculo do end. efetivo

ALUsrcA = 1        # A

ALUsrcB = 10      # off

ALUop = 00         # soma


sw

R2 ->  Mem[EndEfet]

IorD = 1         # endereço

MemWR        # escr mem





PC <- PC + 4

ALUsrcA = 0        # PC

ALUsrcB = 01      # 4

ALUop = 00         # soma

PCsource = 00    # PC+4


Cálculo de end. Desvio

        (Registr. Target)

ALUsrcA = 0        # PC

ALUsrcB = 11   # offset <<2
ALUop = 00         # soma



ld

lê memória

IorD = 1         # endereço

MemRD        # lê mem
ld

R2 <- Mem[EndEfet]

MemToReg = 1 # da mem
RegDst=0          # rt 

RegWR

Tipo R


Operação arit. / log.

ALUsrcA = 1        # A

ALUsrcB = 00      # B

ALUop = 00         # funct


Resultado -> WrReg

MemToReg = 0  # da ALU
RegDst=1          # rd

RegWR


beq


Desvio

ALUsrcA = 1        # A

ALUsrcB = 00      # B

ALUop = 01         # subtr.

PCsource = 01    # beq
PC-WR-Cond



j


j

PCsource = 10    # j
PCWR



